Answer on Question #85148 — Math — Calculus
Question

Find the area enclosed by the curve y*2=4x and 2x+y=4.

Solution

Instead functions Yy, (X) and y,(X) one can consider functions:

1. _ Y
><1(y)—4y, X,(y) = 5

Now let us obtain the area enclosed by the curves x,(y), X,(Y), which correspond to the shaded

region on figure.

First of all we need to find the intersection points using the condition:

x(y) =%,(y)

%y2—2+%: Yy +2y-8+1-1=(y+1)*-9=0

So, we obtain y,=2, y,=-4
As follows from the figure: x,(y) = x,(y) for ye[-4,2].

So, the area of the shaded region is
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Answer: area=9.
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